Term 1 Revision – memorandum 
Question 1: Multiple choice
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Question 2: Match items
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Question 3: Case study

3.1
A trade union is a group of workers ( who elect leaders  to represent the interests of workers  when negotiating with employers or government.  
(4)

3.2
Chemical,  energy,  paper,  printing,  wood  
(max. 4)

3.3
All businesses are affected as petrol becomes unavailable.  Production stops while the strike is on. This means that orders cannot be filled  resulting in loss of sales and profit.  The business is offering an increase above inflation that will still allow it to make a (reduced) profit.  
(max. 4)

3.4
Inflation is the general increase in prices while income remains the same.  The workers would receive a 0,5% to 1% actual increase  as the prices of goods have increased by 6%. 
(4)

3.5
Negotiate with customers to extend the delivery date of orders.  Negotiate with suppliers to delay payment for raw materials.  Negotiate with office staff to assist in the factory.  
(6)

(Allow learners to use their opinions, however, their answers must be relevant.)

3.6
A business can make strategic decisions, such as hedging against inflation.  It can influence regulatory bodies by networking and lobbying.  It can actively engage in social responsibility programmes.  It can build power relationships with allies to negotiate agreements.  
(8) [30]
Question 4: Business ventures
4.1

	Company
	Close corporation

	May begin with one person and is only limited by the number of shares issued. 
	Minimum one and maximum of ten owners. 

	Owners are called shareholders. 
	Owners are called members. 

	Profits divided according to number of shares owned – called a dividend. 
	Profits divided according to percentage interest in the business. 

	Capital is obtained by issuing shares. 
	Capital is obtained from members and is recorded as a percentage interest in the close corporation. 

	Shareholders do not have to be part of the business and can vote at the annual general meeting. 
	Members must be involved in the running and management of the business. 

	The name of the business must end with (Pty) Ltd. for a private company, Inc. or a personal liability company and Ltd. for a public company. 
	The name must end with the letters CC. 

	Managed by board of directors voted in by shareholders at an AGM. 
	Managed by members of the CC. 

	Must register a Memorandum of Incorporation with CIPC. 
	Must register a founding statement with CIPC. 



(max. 5 × 2 = 10 for each form of ownership) [20]

4.2
The Companies Act prohibits new close corporations from being formed.  Business owners will now have to choose between sole trader, partnership or private company.  Existing close corporations have the choice of remaining as a close corporation and complying with the law as it was before the new Companies Act.  Existing close corporations may change their form of ownership to private companies.  It is possible for a close corporation to form a public company if the owners so choose. 
(10) [30]
Question 5: Franchising and outsourcing
	
	Max. mark allocation

	Introduction: Explain choice of option
	4

	Describe option
	6

	Advantages
	10

	Disadvantages
	10

	Factors for a successful business
	10

	Conclusion
	4


[40]
Total: 120 marks
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